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e name of the place

‘ _value?

.4},839,123.0

Ten Thousanads




Hundreds




e name of the place
‘/aitre?

‘)839 123.0

Ones
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Millions
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Hundred Thousands




Thousanads
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Tens
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I ation has a value. This is know as
- the placevalue of the digit in the number.

4,839,123.0




Value
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! ation has a value. This is know as
- the place value of the digit in the number.

4,839,123.0

The digit 3 has a value of 3 ones = 3
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! ation has a value. This is know as
- the place value of the digit in the number.

4,839,123.0
The digit 2 has a value of 2 tens = 20
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I )cation has a value. This is know as
- the placevalue of the digit in the number.

4,839,123.0

The digit 1 has a value of 1 hundred = 100
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I )cation has a value. This is know as
- the placevalue of the digit in the number.

4,839,123.0

The digit 9 has a value of 9 thousands = 9,000
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- the placevalue of the digit in the number.
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4,839,123.0

This digit 3 has a value of 3 ten thousands = 30,000
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- the placevalue of the digit in the number.
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4,839,123.0

The digit 8 has a value of
8 hundred thousands = 800,000
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)cation has a value. This is know as

the pla Je of the digit in the number.

L

4,839,123.0

The digit 4 has a value of
4 millions= 4,000,000




